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Q. No. 1 carries 7 nurk each

Q. No. 2 carries 1 mnrk ench

Q. Nos. 3-72 carry 2 nurks eaclt

Q. Nos. 73-79 carry 3 ntnrks ench

Q. No. 20 carries 3 tnrks each

Q. Nos.27-23 carry 5 nnrks each
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1. Answer in short :

q€v< frfl ;

(a) Which race the Eskimos belong to ?

qfrq'T<E{ csrdrbl ssrtG< qs{s I

(b) Name a Bronze Age civiiization.

<'qyl{ {sl-q qit< ffi B-cH"l F{I

Mention a name of terrace cultivation community of

India.

Ew-"pv'Ks< qF c<fr-ot 1.roq-iEqlT<di{B-m{q{t I

Who coined the term 'gene' ?

'G{'-F{ril c,ll-{ gamn as.l({ E*gl{{ oRfu t

Name one major cultivated product of the Apatanis.

1x 5=5

(c)

(d)

k)

2. Choose the correct answer :

eh €BT <t& Efrscl :

(n) The Scandinavians are typical representative of Nordic/Ainu'

csfEta&Tr< qFKl'frTf,< dtrs/qtr{-{ e-go afuffi t

l2)

I

1x3=3
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(b) Mousterian point is a core/flake tool.

@ The Nuer people of Africa are hunters/ pastoraiists.

q&ot< 1r<-{crE 4etr+s/BfiA I

3. Write what do you know about unifacial and bifacial side-scraper.

1+1=2

qf}Arl oTAfl c<roft \!r+ EFfi$ Tlrfifl cqmfi< fr{cl ft qr+ fr'{rr

4. What do you understand by phenotype ? Give example. 2

ftq'bt?t fir<' fr Tw ? Eqq<6i fiTtt

5. Mention l?0o reasons why blood group system is considered to be the

. most reliable racial criterion . 2

eret& cqfrq<qs <scrBs rrsrd-\r?s eh qr+ fr{fcGilril esr€T fr${ $
ftr <m c{, q< fAsm"i Bzsq +qr

6. What is meant by a tool i Distinguish between core tool and flake tool.

1+1,=2

ffi rtrq ft a Eq:iqfr q<. ffi SqFi< "nqf+l cn-{e<tr

7. Provide the definition of family as provided by G. p. Murdock. 2

fu. A. nrGrs rrfB ircr qRrrq< cie.rctr frq] |
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2

7+7=2

10. Write the names of trl,o tools used in the solutrean culture What
- 

technique was used to make these toots ? 7+1=2

qftrn aq&s <r{qs ffi{l fFl ffi{ aF fi"{ r ei &Fdt<F c<t-d(or

r6fuc< fi{q qa1 l{fu I

11. Show the diffcrences between a natulally broken piece of stone and a

tool.

drfEs d<qs rl&E Fratqe ql+ !iEE< {]q€ 4efs, cn{€<t r

8. What do you understand by compound famity ?

ffifa-<' qFnt-q {ard ft {ql ?

12. Ecology can also be referred to as Environmental Biology Why ? 2

ottRftfrT fr@rq$ ft{ ollFr<FIa qRfud lfre c+r+ q r

13. What is an Antibody ? When does aggtutination occur in blood ?

-l+2=3

,sft<& <1 affi qarm++ ft I cqq\5 ciqfrs{d mfun s! "rn< ?
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14. What are microliths ? ln which Prehistoric Period were these used ?

2+1=3

T.El{({l< ft ? 6$F sttims {tls '!t {l{ rI{{E fqfu ?

15. What do you understand by patrilocal and matrilocal joint family ?

Mention fioo communities from North-East lndia where matrilocal ioint

family is evident. 2+7=3

G9a6-o qr+ ltY?fio riw "rfrslq $i:E ft pr t Ere<-"5 er<s< Ia
Tq?T< .rll G-[grl Gl {'o rr9-Sfu cl{g 1frflE CE!fl c"fl<l {E I

16. Why the rules of descent are siSnificant in a society ? 3

.!"F q$sis <$ll{4{< ffir<t< fti (3+v{ r

17. Write briefly on {fly trr)o hunting techniques adopted by the hunting

communities. 1rh+1t/2=3

ffiR reqlrr{F'fsr sR-tq wfl${ T< fucddl ltt cftffi< firm

ffifi:nt

18. Write about unilateral and bilateral descent ly2+7t/2=3

ssqfF$ qr+ fr-'itff$ <$n{sn< frq({ frrl] t

19. What 1s Ali-Ai-Liilani ? Provide a brief note on hunting and fishing

practices of the Mishing tribe in Assam l+2=3

qtfr qw-Bstt< ft r wq{< ffii 6{ctff8k 6oF qr+ re {$ +ld< 1}{r{ eBi

5T 6lc fr{r
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20. Write short notes on | (any tuo) 3x2=6

5{ droi fu"n z tftrotrqt ril
(n) Greenhouse effect

cqEq rlC eivK

(b) Causes of soil erosion

flF t.in <rR6f

(c) Human and Ecosystem

TFK qf+ qRflqfu r-q

(d) Role of decomposers in the ecosystem.

{RRe \r-qs frcltq-s a qafiql gfrq 
I

21.. Who rediscovered Mendel's Laws of Inheritance ? Discuss the Law of

Dominance and the Law of Segregation. 1+2+2=5

crcsq<<${&<Wr{1< "F<qrfu< mt4sRRE ? erqftIsql+ tqrfi+<q
1g-< fiva qlrqlF{t $-{t

ch 'ethnic group is known as Khoikhoi ? Give an account of skin
t

wlii
colour as a racial criterion.

(?rRc{RREr"t r+n w+cflfr{ q{t{nl ? Dft.f erqtqr fi+s Rffiq <fato<t I
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.Or/\44a1

Discuss the habitation, family and livelihood of the Apatani tribe. 5

ql{fifi qdraf1ff< <tcEl{, 'tfu{ q+ fifu {irm qfr{tF{t s{tl

23. "shifting cultivation should be replaced by permanent cultivation."

- Discuss with reasons. 5

'ffis Tft-{ E ft TfrE {e]efiE n-<t tsGo r " - TF"i q{ft qrcE"b-d'l F<I I

Or / w4zn

\ trhat is Jhum cultivation ? Discuss its merits and demerits T+2+2=5

]n c{& qr({ ft z am< {re q]?t' TTqr{K qIFIID-{IF{f I

-x-
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22. Discuss the characteristics of a Joint family' AIso mention its merits.

21/2+2yz=s

c({@ erRrlq-{ kfiBq{qqlC4IF{ts-{l I qr{ 
"rRrrd< 1qa a 1frflr{qE]IF{
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